DU BEd Special Education Mental Retardation

Topic:- DU_J18_BED_SEMR

1) What is the name of Biodegradable Sanitary Pads launched by Union
Govemment on the eve of Intemational Women's Dav, 20187

ST e f2ad, 2018 & FTWR W 9Nd TSR &1 AR H o9 fby
T/ ged fHT v e wedt 9 &1 9w @ 27

[Question ID = 31077]

1, Suvidha/ SIES] [Option ID = 64301]
5, Aarambh ST [Option ID = 64300]

3, Janaushadhi/ SR (o000 10 = 64302]
4 Swachh/ ¥==9

[Option ID = 64303]

Correct Answer :-
. Suvidha/ T (00400 1D = 64301]

2) Which of the following heads the expert committee constituted recently by
Reserve Bank of India(RBI) to review bank frauds is

afl 77 § AR Red 39 (oRdRTE) @ ek @ d51 A g A 9
% fog o o fovee Wt @ F@ s 2°

[Question ID = 31089]

A K Mishra /T H4T
Jasbir Singh / Gﬁﬂ'&f’ﬂ G
Y H Malegam / 978 U9 ATl T

P Vijaya Bhaskar / 91 [dodr 9y

[Option ID = 64348]
[Option ID = 64351]
[Option ID = 64349)
[Option ID = 64350]

1.
2.
3.
4.

Correct Answer :-

. Y HMalegam / T T ATCHTR [Option ID = 64349]

3) The most commonly used chemical for ripening of mangoes is

I F g B o SughT § ar 9 I 999 w=ee T $iF
27

[Question ID = 31090]

{, Ppotassium iodide/ greRRas maaal [Option ID = 64355]
5. cthylene gas TelH T [Option ID = 64352]

5. calcium carbide / Hfc3TaH FHlES
4, Chlorodane / FANIET

[Option ID = 64354]

[Option ID = 64353]

Correct Answer :-
. calcium carbide / HIITH FHElgS [Option ID = 64354]
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If 20* October of a particular vear falls on the day preceding Sunday, which
dav would be last day of the month?

IR et a¥ 20 e F1 gy fdar 9§ e f2F usar 2, ot 5w wEH

E

Ffeam &9 =1 am =7 2 e

[Question ID = 31112]

i Thursday / TT&aN

[Option ID = 64442]

5 Wednesday/ gHAY
3 Tuesday / HIToldl¥

[Option ID = 64443]

[Option ID = 64440]

4, Friday / I(PaR [Option ID = 64441]

Correct Answer :-

. Wednesday/ g=aR

5)

[Option ID = 64443]

In this question is given a statement followed bv two courses of action I and II.
You have to assume the information given in the statement to be true and
decide which of the suggested course of action logically follow(s) for pursuing.

Statement: Increasing levels of pollution is becoming a health hazard for
people living in metropolitan cities.

Action I: All industries should be shifted to the outskirts of cities.

Action II: People should be encouraged to use public transport.

Mark vour answer as

WA AT wEae e A far1 sk a2 &
TE 2| FYP! 9 BUF DI Pia TG 7 2 v 7 Fofa o 2 B W
= & 9 g vE o W fiFar aife w9 | W@ ¥ oE 9ET wiE |
T © YNV FT T3 TR TEEE T A @ aa A P w@ea 3
fore SiRaw Iar o @T 2|

fohar 1 - Y ST S TR B 9= SF1 # WHEERG $) fSar 9
Eued

fBrar 2 - ot 1 Gdafe WRegT BT wan w1 9 fav gieafed fhar
ST ARy |

I IR H T8 9 T H|

[Question ID = 31123]

; If only II follows / 37X ®acl 2 AT4 2 |
5 If only I follow / 37X $adl 1 19 Z |

3.

4. If neither [ nor II follow / 37X 1 EI:H 2 ﬁ :ﬁ Eﬁﬁ 'Iﬁ b 152 "TEFT é—ll_ [Option ID = 64487]

[Option ID = 64485]

_ [Option ID = 64484]

Ifboth I and II follow/ 37X Hadl 2 AT 2| [Option ID = 64486]

Correct Answer :-

6)

Ifboth I and II follow / 3 Y ?ﬁ?ﬁ' 29 ? | [Clption D = 54435]

Latais facing north and walks 10 kilometers. She tums 270 degrees
anticlockwise and walks 20 kilometers. She then tums 45 degrees clockwise

and walks another 20 kilometers. Which direction is she facing now?

o ST 31 AR 77 v 2 @ik 10 fFarfier @ =ad 21 98 5w 270
f&ft o<t | fawdia faer 4 g7 @l 2 o 20 fraier o =@l 21
3% 45 & 551 91 w1 e A gt 2 ok 5w 20 fFariier o ot 21
39 I9H1 g g feam # 27

[Question ID = 31117]

1. North-east/ STT2  [ption ID = 64462]

2.

South-west/ TRTARTH 10 11 = 64460]
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3, South-east / SIEU-Td [Option ID = 64461]
~ North-west / ERESUIREE]

4 [Option ID = 64463]

Correct Answer :-
. South-east / E'IIE:WT—.EE [Option ID = 64461]

7) Identify the incorrect pair of political party and its founder leader:

9 | 9 vuHifae 9d] N 990 GRS a1 3! Tad wiel & Biled:

[Question ID = 31140]
Independent Labour Party — Dr. Bhim Rao Ambedker / 3isdsc ey dic! —

1| ST 1T IS _ [Option ID = 64554]
Congress Socialist Party — Acharva Narendra Dev / S109 dEliele 9el —
, T T = [Option ID = 64555]

2 Praja Socialist Party — N.G. Ranga / Tl Higiferee UiE] — T 1 11
i Jan Sangh — Shvama Prasad Mukharjee / 5= — FATHT THlE @l

[Option ID = 64553]
[Option ID = 64552]

Correct Answer :-

. Praja Socialist Party — N.G. Ranga / 95T ¥R fore et — @A oft. 3w [Option ID = 64553]

8) Which of the following noted Indian disability rights activist passed away in
March, 2018?

T4 ¥ o 9 fome feam afert & fov 9 Tndm sdsdar
qr 2018 | T[ER MW7

[Question ID = 31075]

1. Malini Chib/ FIeHT 99 [gption ID = 64295]
, Javed Abidi/ ag AR,
I Malvika Iver/ ATAlaHT I

, Satendra Singh/ o= a8

[Option ID = 64292]

~ [Option ID = 64293]
[Option ID = 64294]
Correct Answer :-
Javed Abidi/ Fde ' [Option ID = 64292]

9) The most potent greenhouse gas amongst the following is

9 ¥ 999 WEaN THEST 19 S § 27

[Question ID = 31076]
, Ozone/ 3o [Option ID = 64299]
5 Water Vapour/ Gicl 99y
. Carbon Dioxide/

[Option ID = 64298]

[Option ID = 64297]

4, Methane/ 51 [Option ID = 64296]
Correct Answer :-

Water Vapour/ Siol ard
M i e il [Option ID = 64298]

10) The first Indian wrestler to win gold in the Senior Asian Championship is

99 Ugd YOG Ygeld &1 =19 9aisv ferad diaax e dftgafin |
ot of¥ar 27

[Question ID = 31082]
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- Sakshi Malik / T Hicldh
, Navjot Kaur / TaAT BN
5, Babita Kumari / FERIT BANT
4 Vinesh Phogat / T&%1 BITE

[Option ID = 64323]

[Option ID = 64321]
[Option ID = 64322]
[Option ID = 64320]

Correct Answer ;-
. Navjot Kaur/ ECEIGEEDR

[Option ID = 64321]

11) Which amongst the following has been named as the onlv completely “green’
metro svstem in the world?

T 9 AT sl fave & Qia: I Fgr @awen qEr Ty 27

[Question ID = 31174]
" New York City/ =qgm® |

[Option ID = 64688]
2, Toronto@IRET  option ID = 64689]

3, Delhi/ Tt [Option ID = 64691]

i London/ &84

[Option ID = 64690]

Correct Answer :-

. Delhi/ & 1000 1 = 64691]

12) Mendel noted as many pairs of contrasting traits in pea plants

Hed § 7 @ Ul A fhod wis v fawraret et )

[Question ID = 31133]

9 [Option ID = 64527]
[Option ID = 64525]
[Option ID = 64524]
"7 [Option ID = 64526]

b N

1:
2.
3.
4.

Correct Answer :-

« 7 [Option ID = 64526]

13) Which polynomial represent the product of the (4p) and (g+1)?
71 9 & S 91 9892 (4p) N (g+) P PHSA HI <90l 279

[Question ID = 31148]

1. 4PS7T [Option ID = 64586]
2. HPr  [Option ID = 64587)
3. 4PET4PY [Option ID = 64584]
4. P& [Option ID = 64585]

Correct Answer :-

. 4pgHPr  option ID = 64584]

14) Which of the following state was declared as the first "Open defecation-free
State’ in North-East India?

SR- 9Ra A Fefaed w=at § | 59 ggor 9ot | de 1w wS
wifte far Tar 27

[Question ID = 31098]
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1 Sikkim / THIgH9
,, Manipur / TR [Option ID = 64385]

3, Nagaland/ Tl  1q4i0n 1D = 64387]

4, Arunachal Pradesh /| 3r&v=ol 'Jé'?T [Optlﬂ'ﬂ ID = '54334]

[Option ID = 64386]

Correct Answer :-
. 3 ) [Option ID = 64386]

15) Lavani -a combination of traditional song and dance is most popularly
performed by female performers of which of the following Indian state?

AEv] — TRARE A R T8 &7 el 9F 9N B &9 1eg 31 Jfgan
FAHRI N T fFar mar 27

[Question ID = 31101]

;. Telangana / Ter [Option ID = 64397]

5, Orissa / 3MST [Option ID = 64398]
3. Maharashtra / FERT  option ID = 64399]
4, Guarat/ THEIT 1550000 1D = 64396]

Correct Answer :-
. Maharashtra / 58NS [gption ID = 64399]

16) | Ethane, with the molecular formula C2H6 has
RF, s afdas ¥ C2H6F| T0H 2 —

[Question ID = 31127]

, 8 covalent bonds/ 8 S EGLINEIE Rl
5 9 covalent bonds / 9 WEHATGS T
7 covalent bonds / 7 HE9dad 954

3 _ ; [Option ID = 64501]
4 6 covalent bonds/ 6 FEGAGTS T [Option ID = 64500]

[Option ID = 64502]
[Option ID = 64503]

Correct Answer :-
7 covalent bonds / 7 HE9dad 954

[Option ID = 64501]

17) “World Mental Health Dav’is celebrated every vear on

“Ryg afhe wrey Taw oft o &9 7937 SEr 27

[Question ID = 31100]

1. 1 December /1 T8 (o5t0n 1D = 64395]

2. TApHl 7 3 (o000 1D = 64393]
5, 10 October /10 ST

31 January /31 ANl

[Option ID = 64394]
[Option ID = 64392]

4

Correct Answer :-
10 October /10 JFF<aT ,
. — [Option ID = 64394]
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U e Bl SFEYES YR R S JERG Jdd U9 FT gl SN gAY

WY TN 2 WrFGT 37 43T § Sdhel g3 o1, 99 FAN T W TS P arel fagef

AT HR AED HNG DI I=H DY Fa] & GIN 4 1Hdl DN DI @b g=i9id 48!
T | I8 TG U AT, 99 ARG A HY 1 9 uihar wE aie 9 2 g o 98
TET [ET TIHT O, 99 Wd-a1$1 BT GRT F WA FA1 AR a7 BT WGl § Ehar o |
S T 7 E Ad-ae] TRl Fd goi SRl B3 | U Hare e :1 9N
S forgT TIT O T RIF-RIF R B-BIE TH ¥ UF G T | awge: 7w 9 |
ST AT T YBR BT HY A HE TG AT| T4 JAfH ¥y 76T B wey TR
A TET o, aa e e & sy 99 Ue & B Aar &1 9 €T fRar wan
o7l 9o A T ¥R 9 HN Far off O e T T FE) O 9l 2| 9o 7 -
| A I o, fFeE o o i ST A iy W T o af i d od o @
ugEi &1 Ha—famy $d of | I ded # ug) don g or| §9 &1 faefig s e
29 BN Jdf 7 3@ 2|

AR B9 W TS $Y dlad (993 ol AR I9$ 9Rd 7 @Y dael &
TR F wfg T8 e o o9 —

[Question ID = 31164]

1, S =¥ SR o [Option ID = 64649]

o, RT3 GIRTA AT [0 ID = 64650]
3 TN S WA DI 41T § ThT g1 Al

4, TN ST TEES AT [ption ID = 64648]

[Option ID = 64651]

Correct Answer :-
. EANT <3 WEFEGT DT 4M$al | Sdhel g3 o

[Option ID = 64651]

19)
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U e Bl SFEYES YR R S JERG Jdd U9 FT gl SN gAY

WY TN 2 WrFGT 37 43T § Sdhel g3 o1, 99 FAN T W TS P arel fagef

AT HR AED HNG DI I=H DY Fa] & GIN 4 1Hdl DN DI @b g=i9id 48!
T | I8 TG U AT, 99 ARG A HY 1 9 uihar wE aie 9 2 g o 98
T AT ST o, T WA—AS] BT TR I [ FA AR I DT AT W S o)
S T 7 E Ad-ae] TRl Fd goi SRl B3 | U Hare e :1 9N
S forgT TIT O T RIF-RIF R B-BIE TH ¥ UF G T | awge: 7w 9 |
ST AT T YBR BT HY A HE TG AT| T4 JAfH ¥y 76T B wey TR
A TET o, aa e e & sy 99 Ue & B Aar &1 9 €T fRar wan
o7l 9o A T ¥R 9 HN Far off O e T T FE) O 9l 2| 9o 7 -
| A I o, fFeE o o i ST A iy W T o af i d od o @
ugEi &1 Ha—famy $d of | I ded # ug) don g or| §9 &1 faefig s e
29 BN Jdf 7 3@ 2|

AR B9 W TS $Y dlad (993 ol AR I9$ 9Rd 7 @Y dael &
TR § wfy T2 R o 59 —

AT AN AHS AN D] GaH DY ddR & GIR A 19l GHR D1 B Gakid a1
FHYd O 98 9HG U9 o7, O WRG 9 B @1 9 ufhar e e 9 21 21 oY) 98
0 AT THT o, 98 WG] B G &1 W Fal AN 9l DI Arel | &ar o)
SN 1 7 suE Ad-a<E] W | F9 9o a3 § THT FHae afe F1 9w
S forgT T O T RIF-WIH R BI-BIE T # T& Yo ! off| I g1 90 |
H1 TN Th YHR BT HIY Je HET oaT 7| 79 JA0S AH™ 7 &1 wwy TR
= TE o, aa Ife fie @ swu 99 4o & Y Aar &1 9W T fear
or| Yo € TP vHR 9 Hf Far off o yRfE o S BE o Saal 21 ¥ # -
| A I o, BFuE o o R If-T™ F S W e e i fl e o s
W ®T Ha—{ahy HYd ¥ | UE aNad | UI] Hell g o7 §91 @1 _fasthag w9 e
g9 HfY Jal 7 I@d 2|

aa | G 93 Ao &7 [adiad o9 8 ¢

[Question ID = 31168]

1. TS T [Option ID = 64666]
), o [Option ID = 64665]

3, TR A [Option ID = 64664]
4. B FA [option ID = 64667]

Correct Answer :-
o T AT [option ID = 64667]
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U e Bl SFEYES YR R S JERG Jdd U9 FT gl SN gAY

WY TN 2 WrFGT 37 43T § Sdhel g3 o1, 99 FAN T W TS P arel fagef

AT HR AED HNG DI I=H DY Fa] & GIN 4 1Hdl DN DI @b g=i9id 48!
T | I8 TG U AT, 99 ARG A HY 1 9 uihar wE aie 9 2 g o 98
TET [ET TIHT O, 99 Wd-a1$1 BT GRT F WA FA1 AR a7 BT WGl § Ehar o |
S T 7 E Ad-ae] TRl Fd goi SRl B3 | U Hare e :1 9N
S forgT TIT O T RIF-RIF R B-BIE TH ¥ UF G T | awge: 7w 9 |
HT AT TF PR BT HY el HET Al oT| 79 FqLE [@Ghrd 97 & @e Y 9N
A TET o, aa e e & sy 99 Ue & B Aar &1 9 €T fRar wan
o7 Ho &1 tF voR @ S Jar off & e T S FE) o 9l 21 90 7 -}
T A I O, e e 9 R wd-ae § wf v e e @ o e o @
ugEi &1 Ha—famy $d of | I ded # ug) don g or| §9 &1 faefig s e
29 BN Jdf 7 3@ 2|

AR B9 W TS $Y dlad (993 ol AR I9$ 9Rd 7 @Y dael &
TR F wi" 747 fomw o o9 —

AT AN AHS AN D] GaH DY ddR & GIR A 19l GHR D1 B Gakid a1
FHYd O 98 9HG U9 o7, O WRG 9 B @1 9 ufhar e e 9 21 21 oY) 98
TET AT BT o, T WA BT TR B WA FAl AR I BT TS F Eher o
SN Fd F Fua IS TR | T I Er $A1 9 9= Ferer afe 1 9w
S forgr ST o7 | T RFA-WH W BR-BIE IH 7 U6 e el oft) e g6 9 |
H1 TN Th YHR BT HIY Je HET oaT 7| 79 JA0S AH™ 7 &1 wwy TR
= TE o, aa Ife fie @ swu 99 4o & Y Aar &1 9W T fear
or| Yo € TP vHR 9 Hf Far off o yRfE o S BE o Saal 21 ¥ # -
W AR A o, fFEE o o ok WA 7 S @ e = Al | e o @
W ®T Ha—{ahy HYd ¥ | UE aNad | UI] Hell g o7 §91 @1 _fasthag w9 e
g9 HfY Jal 7 I@d 2|

R ECE SRR EE

[Question ID = 31167]

1. TR 6 ton D = 64661]
2. T ontion ID = 64660]

3. 79 [Option ID = 64663]
4. TSY [Option ID = 64662]

Correct Answer :-
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U e Bl SFEYES YR R S JERG Jdd U9 FT gl SN gAY

WY TN 2 WrFGT 37 43T § Sdhel g3 o1, 99 FAN T W TS P arel fagef

AT HR AED HNG DI I=H DY Fa] & GIN 4 1Hdl DN DI @b g=i9id 48!
T | I8 TG U AT, 99 ARG A HY 1 9 uihar wE aie 9 2 g o 98
TET [ET TIHT O, 99 Wd-a1$1 BT GRT F WA FA1 AR a7 BT WGl § Ehar o |
S T 7 E Ad-ae] TRl Fd goi SRl B3 | U Hare e :1 9N

S forgT TIT O T RIF-RIF R B-BIE TH ¥ UF G T | awge: 7w 9 |

HT AT TF PR BT HY el HET Al oT| 79 FqLE [@Ghrd 97 & @e Y 9N
A TET o, aa e e & sy 99 Ue & B Aar &1 9 €T fRar wan
o7l Yo €1 UH PR T Ao off O RS 9= <9 SE) o 9dal 2| o F -
T A I O, e e 9 R wd-ae § wf v e e @ o e o @
ugEi &1 Ha—famy $d of | I ded # ug) don g or| §9 &1 faefig s e
29 BN Jdf 7 3@ 2|

AR B9 W TS $Y dlad (993 ol AR I9$ 9Rd 7 @Y dael &
TR F wi" 747 fomw o o9 —

AT AN AHS AN D] GaH DY ddR & GIR A 19l GHR D1 B Gakid a1
FHYd O 98 9HG U9 o7, O WRG 9 B @1 9 ufhar e e 9 21 21 oY) 98
TET AT BT o, T WA BT TR B WA FAl AR I BT TS F Eher o
SN Fd F Fua IS TR | T I Er $A1 9 9= Ferer afe 1 9w

S forgT T O T RIF-WIH R BI-BIE T # T& Yo ! off| I g1 90 |

H1 TN Th YHR BT HIY Je HET oaT 7| 79 JA0S AH™ 7 &1 wwy TR
= TE o, aa Ife fie @ swu 99 4o & Y Aar &1 9W T fear
or| Yo € TP vHR 9 Hf Far off o yRfE o S BE o Saal 21 ¥ # -
G A I o, M o o IR SH-IR | S W@ 9 I i ol o o s
W ®T Ha—{ahy HYd ¥ | UE aNad | UI] Hell g o7 §91 @1 _fasthag w9 e
g9 HfY Jal 7 I@d 2|

MY AT DI INAD T 2

[Question ID = 31166]

p, Tem [Option ID = 64658]
2.| 92 [Option ID = 64659]

3. L [Option ID = 64656]

4, TS [option ID = 64657]

Correct Answer :-

. | 98 [Option ID = 64659]

22)

~

T
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U e Bl SFEYES YR R S JERG Jdd U9 FT gl SN gAY

WY TN 2 WrFGT 37 43T § Sdhel g3 o1, 99 FAN T W TS P arel fagef

AT HR AED HNG DI I=H DY Fa] & GIN 4 1Hdl DN DI @b g=i9id 48!
T | I8 TG U AT, 99 ARG A HY 1 9 uihar wE aie 9 2 g o 98
TET [ET TIHT O, 99 Wd-a1$1 BT GRT F WA FA1 AR a7 BT WGl § Ehar o |
S T 7 E Ad-ae] TRl Fd goi SRl B3 | U Hare e :1 9N
S forgT TIT O T RIF-RIF R B-BIE TH ¥ UF G T | awge: 7w 9 |
ST AT T YBR BT HY A HE TG AT| T4 JAfH ¥y 76T B wey TR
A TET o, aa e e & sy 99 Ue & B Aar &1 9 €T fRar wan
o7l 9o A T ¥R 9 HN Far off O e T T FE) O 9l 2| 9o 7 -
| A I o, fFeE o o i ST A iy W T o af i d od o @
ugEi &1 Ha—famy $d of | I ded # ug) don g or| §9 &1 faefig s e
29 BN Jdf 7 3@ 2|

AR B9 W TS $Y dlad (993 ol AR I9$ 9Rd 7 @Y dael &
TR F wfg T8 e o o9 —

AT AN AHS AN D] GaH DY ddR & GIR A 19l GHR D1 B Gakid a1
FHYd O 98 9HG U9 o7, O WRG 9 B @1 9 ufhar e e 9 21 21 oY) 98
T AT TS o, T WA FT GR B WA FAT AR I P AT e o
SN 1 7 suE Ad-a<E] W | F9 9o a3 § THT FHae afe F1 9w
S forgr ST o7 | T RFA-WH W BR-BIE IH 7 U6 e el oft) e g6 9 |
H1 TN Th YHR BT HIY Je HET oaT 7| 79 JA0S AH™ 7 &1 wwy TR
= TE o, aa Ife fie @ swu 99 4o & Y Aar &1 9W T fear
or| Yo € TP vHR 9 Hf Far off o yRfE o S BE o Saal 21 ¥ # -
W AR A o, fFEE o o ok WA 7 S @ e = Al | e o @
W ®T Ha—{ahy HYd ¥ | UE aNad | UI] Hell g o7 §91 @1 _fasthag w9 e
g9 HfY Jal 7 I@d 2|

| a H F{fY ST AN AR [ w9 A

[Question ID = 31165]

1, FTEE |EAT B BN B AT (00000 1D = 64653]
Q_Wﬁmﬁﬁﬁﬁﬁeﬁ [Option ID = 64652]

5, D1 &I gt o [Option ID = 64655]
4, T &I B AT [otion 1D = 64654]

Correct Answer :-

ok ckih kG

23) When a dice is thrown, the outcomes of an event of getting a prime number is:
TE U U SOTE WAl 2, O U 3 3% A &1 T WHIET ATl 2

[Question ID = 31150]

~

T

[Option ID = 64652]
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1. 1 [Option ID = 64595]

I/,{.
2.1 “ [Option ID = 64592]
3. 13 [option ID = 64593]
4, 1'6 [option ID = 64594]

Correct Answer :-

1
. I /2 [Option ID = 64592]

24) Silicon Valley is located in
fafore=r deft feg 2 -

[Question ID = 31135]

1, NewYork/ U@ [o5tion 1D = 64532]
. California / Fafiwi-a1 [Option ID = 64533]
3, Mumbai/ T op4i0n ID = 64535]

4, Bengalur / % [Option ID = 64534]

Correct Answer :-
. Califomia / FEBIAT (00100 1D = 64533]

25) Complete the given series by finding the missing term?

1. 4,27, 16,125, 7, 343
TH AT W T W B TR ARy’

1,4,27,16, 125, 2, 343

[Question ID = 31106]

1. 64 [Option ID = 64419]
2. 36 [Option ID = 64417]
3. 48 [Option ID = 64418)

32 .
4. 7= [Option ID = 64416]

Correct Answer :-
« 36 [Option ID = 64417]

26) Who topped the Forbes World's Billionaire 2018?
Bled &1 favd & 9a IR 2018 D1 G A HaOk P 27

[Question ID = 31092]
1. EE e : [Option ID = 64361]

p, Wamren Buffet/ a7 a% [Option ID = 64362]

3, Mark Zuckerberg / A& SHW  [0ption ID = 64363]
4 Jeff Bezos /| 5% Sl

[Option ID = 64360]

Correct Answer :-
. Jeff Bezos / UF daid [Option ID = 64360]

27) Arun is twice as old as Shriya. Five years ago, his age was three times
Shriva’s age. Present ages of Arjun and Shriva are:

o Brar 9 SR w97 21w o uEd, a{T 37 99 frr 9 O
e of| el SR Brar #1 adae ey e &

[Question ID = 31151]
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1. 15.30  [option ID = 64598]
2. 20.10 roption 1D = 64599]
3. 30. 15 [Option ID = 64596]
4. 10.20 1option 10 = 64597)

Correct Answer :-
. 20.10 roption 1D = 64599

28) Who is the author of the famous book Ignited Minds™?
RS AESY NG WNE [NF D oE@d DT 27
[Question ID = 31088]

{ Khuswant Singh /&¥1dd ¥z [Option ID = 64344]
5 A_P.J. AbdulKalam / TUIW. Jgd HolH

[Option ID = 64346]

Mark Tully / FTHeall .
= * [Option ID = 64345]

. Shashi Tharoor / 13T 2=
4. [Option ID = 64347]

Correct Answer :-
A P.J AbdulKalam / TUIW. g HoAH

[Option ID = 64346]

29) Who amongst the following became the first Indian architect to win the
Pritzker Prize which is considered as the architecture’s ‘Nobel' equivalent?

T | B B WG angoN g O 9 @ &3 7 AN @ Thes
A4 W+ e ewey e faar man 22

[Question ID = 31080]

, Prof. Charanjit S Shah 9T, TROTSTIT TH 98 [Option ID = 64312]
5 Nilanjan Bhowal / [EEEEICIEIT [Option ID = 64313]

3, Balakrishna Doshi / FTeE®T T 00 10— 64315

,, PRS Sivakumar / 41 & 7 firaage

[Option ID = 64314]

Correct Answer :-
. Balakrishna Doshi / STeire=T =T9]

[Option ID = 64315]

30) {Which would be the product of (:(:3))*(3)?
((-3))*(-4)? F1 aRum F41 2FIT7)

[Question ID = 31152]

1. ((-12))) [option 1D = 64603]
2. -12° [option ID = 64601]

3. 12 [Option ID = 64600]
a. CC12) option 1D = 64602)

Correct Answer :-
- 12 [option ID = 64601]

31) Which of the following statesis also known as "The Land of Dawn Lit
Mountains'?

frfoan weal 4 9 $19 9 w7 1 99 geafora gdal o 4fF 4 FHaT
AT 27

[Question ID = 31143]
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Nagaland / STTelS )
1. [Option ID = 64566]

», Manipur / TOTR [Option ID = 64564]
3. Arunachal Pradesh/ &S0l U9l
4, Mizoram / BT (0pi0n 1D = 64567

[Option ID = 64565]

Correct Answer :-

Arunachal Pradesh/ 3®UT=Iel Ha T [Option ID = 64565]

32) | In a competitive examination, a candidate gets 5 marks for every cormrect
answer and loses 1 mark for every wrong answer. If a candidate attempts 50
questions and secures 130 marks, what is the number of questions he answered
correctly?

T wfaant wWET | wfean B vwe 93 o P o 5 o faed 2 ek
TAF Mol SN D o0 1 3F @ET USaT 2| IR Fig Fogiil 50 =1 F7
TR o7 2 AN I¥ 130 IS Bad 2, o 99 e v o7 w9 SR R
2, 78 Fase]

[Question ID = 31113]

1. 30 [Option ID = 64445]

2.1 28 [option ID = 64444]
3. 32 [Option ID = 64446]
4. 3° [Option ID = 64447]

Correct Answer :-
i [Option ID = 64445]

33) How many times are the hands of a clock at right angles in 24 hours?
24 b2l ¥ o R g1 S a1 THDIT I &0
[Question ID = 31104]

B 44 Option ID = 64411]

2. 28 [Option ID = 64409]
3. 36 [Option ID = 64410]
4. 22 [Option ID = 64408]

Correct Answer :-
« ¥ [Option ID = 64411]

34) The essential difference between an AC generator and a DC generator is that
THT SeR v ST oiver 7 = o 2
[Question ID = 31130]

AC generator has an electromagnet while a DC generator has permanent
magnet /TH! S-ReY H fied 999 2 s W1 dex F =] 999 2

AC generator will generate a higher voltage /THI T-¥cY 9= dlecyl Icd~

' [Option ID = 64512]

2| T [Option ID = 64514]
AC generator has slip rings while the DC generator has a commutator /791

5, IR H Ry R @ s il AReR H TR 2 [Option ID = 64515]
DC generator will generate a higher voltage / Sl wi-Ned 9=d dlcedl I~

4, B [Option ID = 64513]

Correct Answer :-
AC generator has slip rings while the DC generator has a commutator /TH1

. e F Rem e 2 wafd SRl SR | seggen 2 [Option ID = 64515]
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35) What is the square root of 647

64 BT TS T BAT?

[Question ID = 31144]

1. 4 [Option ID = 64569]
2, 128 [option ID = 64571]
3. & [Option ID = 64568]
4.16 [option ID = 64570]

Correct Answer :-

« 8 [Option ID = 64568]

36) In this question, a statement is given followed bv two arguments I and II. You

have to decide which of the arguments is a strong argument?

Statement: Should smoking be banned in public places?

Argument I: Yes, this is the most important way to reduce pollution in the city.
Argument II: No, it alone would not help to improve the quality of
environment.

Give answer as

STHHE T E R g ed gt a9 1 @ik 2 Ry w2 st
UE T T 2 5 B A TP Aogg OF 20

FU - AT EEYH F HEoS A @ fory gftEla s & wike?
% 1 : 81 MY A yguv veH % frv g w'd "Ewagyf aier 2

@ 2 A€], 9 UHHE T | aareN] S e § §ER & aren T8
FOAT SR FOH | g

[Question ID = 31122]

; If neither I nor I1 is strong / 37X a® 1 AN 2, F1 Aogd =81 2|

1fb Tand Il / TR S 9% 1 3R 2 T
, 1fboth arguments 1and I are strong = a5 il [Option ID = 64482]

3

_ If only argument Il is strong / 3T7TY I T 2 ‘:ﬁf@ Z| [Option ID = 64481]
4. Ifonly argument Lis strong / 31X Hdel 9 1 Foig 2 | [Option ID = 64480]

Correct Answer :-

If only argument I is strong / 3R Hadl b 1 Fogd ¢ | [Option ID = 64480]

37) In this question. a problem is asked followed by two statements I and II in

which certain data are given. You have to decide if the data given in the
statements are sufficient to answer the problem.

Problem: What is Shekhar’s rank in the class?
Statement I: There are 40 students in the class.
Statement II: There are 12 students who scored more than Shekhar in the class.

Mark vour response as

9 U {9, TF 99T 3 Sooid @ furae AR 8 e fer v g o
TP TSN <1 TE 2| ISl Ffa w2 5 o A § 1 Ieen
9 9N ¥ 999 1 99 $91 o garg 27

AT IR T R H BT o9 ¥ 27

TRA 1: BET H 40 B1F B

@Y 2 FETH 12 UF UH 2 e oie siaw § afvs €|

Fus! gfafhar g9 wed 7 4 ¥ 3 g

[Question ID = 31118]

If both statements together are required / 37X <1 el $i #Hd
1. SugIfar 2 |

[Option ID = 64483]

[Option ID = 64466]
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If both statements I and 11 are not sufficient to answer the question / 37¥ 41
, T 1 T 2 39 99 & R 34 B fow varm 7 | [Option ID = 64467]
If data in statement II alone is sufficient / 37X T 2 § 31 T3 WHBNI JDol

3. ¥ 9gie 2| [Option ID = 64465]
If datain statement I alone is sufficient/ 37X I 1 # € T8 THON! AP

4 HUglE 2| [Option ID = 64464]

Correct Answer :-
If both statements together are required / 37X S 9l B HET
. Suaifiar 2|

[Option ID = 64466]

38) If88-40=4;53-26=1;87-32=3; what is the value of 78 -21 =7
AN88-40=4:53-26=1:87-32=32. 08 H 78-21= EEIT%ﬁTlT?l

[Question ID = 31115]

1. 7 [Option ID = 64455]
2.1 © [Option ID = 64454]
3. i [Option ID = 64453]

4, 2 [Option ID = 64452]

Correct Answer :-
. & [Option ID = 64453]

of Law and justice to be conferred the ‘Nan Shakti Puruskar'?

fa=fofad § 9 =g 3R $9F @ 89 § 98 T [N @ foy T
TEEl ARG AR I 20

[Question ID = 31095]

1, (fu] sir sl il [Option ID = 64375]
>, Gita Mittal / 'ﬁﬂT FTA [Option ID = 64372]
3, Rekha Mishra / ¥&T B8 [0i0n 1p = 64374]
4 Fathima Beevi / BIcHT §1dl

[Option ID = 64373]

Correct Answer :-
. Gita Mittal / 711 Te7c [Option ID = 64372]

40) Which of the following is not an example of a bio-mass energv source?

9 ¥ T 9 G399 FT Fo =g 2T 27

[Question ID = 31129]

1 gobar-gas / TE—14H [Option ID = 64509]

5 nuclear energy / ADTT FHol [Option ID = 64510]
T

3.| Wood / FPST  (option Ip = 64508)

4.| Ceal / BT o100 1D = 64511]

Correct Answer :-
nuclear energy / ATH® A Hll

[Option ID = 64510]

41) “World Braille Day” is annually celebrated on

“ges sol & W 59 7 T o 27
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[Question ID = 31085]

. 8 September /8 THa=Y
5 4 January /4 EECH]

3, i [Option ID = 64333]
4, 31 October 31 JFE (100 10 = 64335]

[Option ID = 64334]
[Option ID = 64332]

Correct Answer :-

. 4 January /4 SN

[Option ID = 64332]

42) Which number is not a perfect cube?
DI | Fe Pt 89 2T 27

[Question ID = 31145]

1. 123 [option ID = 64573]
2. 100 1option 1D = 64575]

3, 1000 [Option ID = 64574]

4. 216 [Option ID = 64572]

Correct Answer :-

. 100 [option ID = 64575]

43) If Light: Candle. then
3T Light: Candle, 79

[Question ID = 31105]

" Exercise: Strength/ Exercise: Strength [Option 1D = 64412]

; _ [Option ID = 64413]
5 Dieting: Overweight / Dieting: Overweight [Option ID = 64415]

5 Power: Battery/ Power: Battery

4, Automobile: Engine / Automobile: Engine 01 15 _ 64414)

Correct Answer :-
. Power: Battery / Power: Battery [Option ID = 64413]

44) India’s first dedicated helicopter taxi (heli-taxi) service has been launched in
WG @1 Ugeil 2fehled cadl (Eo—cadl) Hal U3 31 T8 27

[Question ID = 31102]

, Kolkata / DIADTI 000 10 = 64402]
o, Chennai / F=% [Option ID = 64403]

3, Bengalur /TGS i - 6ad00)
4, Kochi Bitea [Option ID = 64401)

Correct Answer :-
. Bengaluru / 3Tqw [Option ID = 64400]

45) The programme of economic reforms in India was started on:

HRT # RfF IR FT HTAHA D9 AT g

[Question ID = 31134]

g, 24 July 1991/24 Mg 1991 (000 1p = 64528
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J 1991 / 1 T=a<] 1991
p HIammary 1991 /4 & P roption ID = 64530]
4 1July 1991/1 TeTE 1991

[Option ID = 64529]

Correct Answer :-
. 24 July 1991/ 24 TAE 1991 (5000 1D = 64528]

46) The 19% century great social reformer Ishwar Chandra Vidyasagar waged a
struggle against which of the following social causes?

1991 TEI § FE TFe NG 39} 9 [GuErR | §99 9 59 aFtee
TES Pl AP TOY BI?

[Question ID = 31084]

, Education of women / Higem B

5 Untouchability / 3¥g=gd0

[Option ID = 64331]

[Option ID = 64330]

pas ——
i Widow remarriage | [Option ID = 64328]

Correct Answer :-

. Widow remarriage / faerar qAfdarz [Option ID = 64328]

47) Wlu;ch of the following coined the term “Geography™?
g9 9 fa oReifg o= sgiameT e

[Question ID = 31142]

. Blache / =f= [Option ID = 64563]

o, Aristotle/ T [05tion 1D = 64561]

3, Eratosthenes /TICTI 1A [Option ID = 64562]
4, Humboldt / dlee

[Option ID = 64560]
Correct Answer :-
. Eratosthenes QRIS [Option ID = 64562]

48) The condition when the earth is closest to the sun is known as:

a2 Rufy o8 ol v @ wedt v 2 2, Feand 2
[Question ID = 31139]
. Apogee | H—a=d
5, Apehelion /FEF 100401 1p = 64549
3, Pengee / T [Option ID = 64550]

Perihelion /| & HH4®D _
" il s — [Option ID = 64551]

[Option ID = 64548]

Correct Answer :-
Perihelion / @ HH9® .
e 2 — [Option ID = 64551]

49) Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief

and social work?

¥4 | fh8H 1896 # AMEaT &1 Ve =4 AN HA Har & oy v
e &1 =T Fi°

[Question ID = 31094]
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;. Sti SaradaDevi / #T 9I¥aT <l [Option ID = 64371]
Ramakri aramhansa / AU TEET
e i % [Option ID = 64368)

. Swami Dayananda Saraswati /| T@H] =S HWEd!
4 Swami Vivekananda / WM fSe@M<

[Option ID = 64370]

[Option ID = 64369]

Correct Answer :-
. Swami Vivekananda /| @M [Ad&= [Option ID = 64369]

50) Thg Gupta temple which is not situated in Madhya Pradesh:
99 9 B 9 T & BT Aex € ul 7eg gy | Rem T8 2

[Question ID = 31141]

1 None of the above / TR § | g 91 72T [Option ID = 64559]

7. ijli\-" Temple of Bhw / AT BT EIE] F{IEQ_ [Option ID = 64557]
3. Vishnu Temple of Tigawa | STl & ﬁ'm:[’ IR [Option ID = 64556]

" Dashavatara Temple of Deogarh / Sa7@ &I <INadN Aoy

[Option ID = 64558]

Correct Answer :-
. Dashavatara Temple of Deogarh / <G Pl aINaaN AleY

[Option ID = 64558]

51) Which of the following is India’s first Union Termritory to run completelv on

solar power?

ffaRaa & $19 91 9RG FT G ST Yo 2 F qUiadr 9 Far
W amRa 27

[Question ID = 31083]

i Puducherry / GgI [Option ID = 64325]
5 Lakshadweep / EEEL [Option ID = 64326]

3. Din/ €9 [option ID = 64327]
4, Chandigath/ FSF8 (05400 1D = 64324]

Correct Answer :-
. Diu/E@  [option ID = 64327]

52) Which of the following country has ceclared to impose a ‘carbon tax” from
2019 tc reduce greenhouse gas emission?

4 9 59 2w 9 2019 9§ fHEew 19 Iouwa | 41 & fov oEe S
ST BT =N BT 27

[Question ID = 31087]

y, Ireland / FARIS  [option ID = 64343]

o, Malaysia / FARTAT 60000 1D = 64340]

4 Singapore / TR [Option ID = 64341]
Sweden/ WiEd

4 [Option ID = 64342]

Correct Answer :-
. Singapore / TR |00y 11 = 64341]

53) How many cubes of 3 cm edge can be cut out of a cube of 18 cm edge?

18 §HI BR & TPR THS ¥ 3 UH BR & fha v9oR THe e
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[Question ID = 31114]

1. 216 [option ID = 64450]
2. 72 [Option ID = 64449]
3. 36 [Option ID = 64448)

232 [Option ID = 64451)

Correct Answer :-
. 216 [option ID = 64450]

54) Which of the following organization is responsible to regulate and monitor
services given to persons with disability, to standardize svllabi, and to maintain

a Central Rehabilitation Register of all qualified professionals and personnel
working in the field of Rehabilitation and Special Education?

Frafafaa # 59 9®r ® Garr & <1 9F el 99 & e iR
e @ 83 4 o o 9 w1 arg fagivs ok BEal & B=E ey
AeY R & 1 forsen 27

[Question ID = 31079]

Action for Ability Development and Inclusion (AADI)/ T&TH BN Uldee!
|, STATHE TS oo (TUeiE)| [Option ID = 64311]
National Centre for Promotion of Employvment for Disabled People
(NCPEDPY ¥-dl ¥eX BN FAITH 36 T BN feataes digd
. (TS [Option ID = 64308]
,, Rehabilitation Council of India (RCI) ARG THate GRye (FNAWRIE) T
Association of People with Disability (APD India)’ THINTIH 356 ‘ﬁﬁ fa=
,, FSERRfere (T hean) [Option ID = 64309]

Correct Answer :-
. Rehabilitation Council of India RCI)/ WA Gaid UR9s (HRAAE) ——_—

55) Which one of these numbers is not divisible by 37
T | FH W AR 3 ¥ v 72 29

[Question ID = 31146]

1. 616  [option ID = 64577]

2. 294 [option ID = 64578]
3,432 [Option ID = 64579]

4, 108 [option ID = 64576]

Correct Answer :-
. 616 [option ID = 64577]

56) 10 mL of a solution of NaOH is found to be completely neutralised by 8 mL of
a given solution of HCI. If we take 20 mL of the same solution of NaOH, the
amount HCI solution (the same solution as before) required to neutralise it will

be
10 Al NaOH & Us g &1 HCI &7 8 A ell gia ot ove o FAgmrdl o

30T 21 3R g9 NaOH & S °ie 37 20 Al 7= o af s+t e HCl
F °d B ol A= 39 FEEr 99 % o gate @)

L 3 .

[Question ID = 31125]

1, 8mL /8 MEL  [Option ID = 64493]
, 16 mL /16 Aol

[Option ID = 64495]
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3.4mL /4 FSL  [Option ID = 64492]
4 12mL /12 faeft [Option ID = 64494]

Correct Answer :-
. 16mL /16 =i [Option ID = 64495]

57) Which pair represent the like terms?
S | ST TS T G gehiar 29

[Question ID = 31149]

1, 4xy. -133’?1" [Option ID = 64591]
dx -13v-

; & -By [Option ID = 64589]

3, 4x. -3y [Option ID = 64590]

4x, -13vx

4 [Option ID = 64588]

Correct Answer :-
. ¥-13Y option 1 = 64590]

58) Who is the author of the famous book “The Guide'?
WEY Td € MEs & o@D T 719 Ia18y?

[Question ID = 31103]

, Vikram Seth / IEEISE] [Option ID = 64405]

2. R. K. Narayan / & ARG

[Option ID = 64406]

. Ruskin Bond / T4 918 [Option ID = 64407]

" Munshi Prem Chand / F11 99ai2 .
4, [Option ID = 64404]

Correct Answer :-
R. K. Narayan /| ¥R & ARG

59) Which of the following constitute a food-chain?
T § DI @RS T 27

[Question ID = 31128]

Grass, wheat and mango /€4, Tfﬁ\ IN FI=

1 [Option ID = 64504]

, Goat, cow and elephant / IHNI, T AN PRI

31| Grass, fish and goat / 99, HEa AN TH
, Grass, goat and human / U9, ¥ SR 19

[Option ID = 64506]

[Option ID = 64507]
[Option ID = 64505]

Correct Answer :-

. Grass. goat and human / 919, TPl SN = [Option ID = 64505]

60) ~ While cooking, if the bottom of the vessel is getting blackened from outside, it -
means that

AT YT THY, FTR 909 D1 U1 IEY | Fioil 2 Tl 2 O 59T 3Rf 2

[Question ID = 31132]

g the food is not cooked completely / |G- T ?T?E H 981 9T B [Option ID = 64520]
5 the fuel is buming completely / 899 QI & | ol & & [Option ID = 64523]

 the fuel is wet / T2 e 2 [Option ID = 64522]

the fuel is not buming completely / 9 I d¥g | &1 Wol & &

3

4, [Option ID = 64521]
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Correct Answer :-
the fuel is not buming completely / 9 [ T& ¥ &1 Wel @1 € [Option ID = 64521]

61) Which of the following is India's official entry for Best Foreign Language
Film in Oscar 20187

594 | $iH 9 e I 2018 7 g fagel W &7 e sivh #
WG o1 dfReRs wgfa @ $9 A 9ol 737

[Question ID = 31081]

2, Dangal / ST& 5400 1D = 64316]

3, Dahubali 2/ 9GS 2 160ion 10 = 64317]

g, Newton/ SqET 1 ion ID = 64318]

Correct Answer :-
Newton/ €T 4i0n ID = 64318]

62) Recall the face of the poorest and weakest man (woman) whom you may have
seen, and ask vourself, if the step vou contemplate is going to be of anv use to
him (her).” Who is the author of the above quote?

HO A H 999 TR 3N HEeN dfEg g8 B onert g s S
g 3R w9 | el 5 1 F9 I SoH O R B S9N oW dfed (Y
a1 Sff) 1 T A '1 O @ 21 SWNied P Dl HEA aed Bl AF
FaETY)

[Question ID = 31099]

i / el 98T} Tl

{ Lal Bahadur Shastri [Option ID = 64388]

, Sardar Vallabhbhai Patel / A¥ER dcorlg decl [Option ID = 64390]
3, AP.J. Abdul Kalam / THIS. 3 P (oppion 1p = 64391]

5. Mahatma Gandhi / FEST T 0 caseey

Cq:[rrect Answer :-
Mzhatma Gandhi / 8T T [Option ID = 64389]

63) Inwhich of the following river, ‘Majuli river island’ is situated?
f=fafaa § | 59 981 9 Arge! <1 g fem 27

[Question ID = 31137]

, Chamba / JF 000 1p = 64542]
,, Kaveri / 1l [Option ID = 64541]

3, Jhelum / FFH  [option ID = 64543]
4 Brahmaputra /| 8194

[Option ID = 64540]

Correct Answer :-
Brahmaputra /| 8194

[Option ID = 64540]

64) At a children’s party, there were /8 handshakes. If each child shook hand only
once with all other children. how manv children were present at the party?

=l B UH UE! H, 78 =BT T FHOmAT AT IR YGS T T G THI
T 9 T 9N R fyeman, ot ot | fhe o= Sufem o)
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[Question ID = 31109]

i [Option ID = 64429]

1.

2,37 [Option ID = 64431]

3. 26 [Option ID = 64430]
i |

4, 12 [Option ID = 64428]

Correct Answer :-
. i [Option ID = 64429]

65) On the occasion of Intemational Women's day 2018, Ministryv of Micro.
Medium and Small Enterprises (MSME) launched a portal for women
entrepreneurs. What is the name of the portal?

Fawsg Afgen fiaw 2018 & TR W oY U9 IR B AN
(TTUaTRE) #ATerd | Afgen Suwal @ o e Uide B ToRE $1| 39
Tidel &1 19 F4T 27

[Question ID = 31091]

 B-Samvad/ TR 000 1D = 64356)
2. NARIApp/ TR T8 (option ID = 64357]
5, Shakthi App g1ied O

4, Udyam Sakhi / S&r9 aE

[Option ID = 64358]
[Option ID = 64359]

Correct Answer :-
. Udyam Sakhi / S2F &d1

[Option ID = 64359]

66) According to census 2011, the male literacy rate of Indiais:
2011 FUET & HTER, 9RG 9 769 9ERGT X 2

[Question ID = 31136]
1. 77.1% [Option ID = 64537]
2.| 82.14% g5t0n ID = 64538]

3. 75.3% [option ID = 64536]
4. 88.8% [option 1D = 64539]

Correct Answer :-

. | 82.14% (option 1D = 64538]

67) Pointing to an old woman, Raman said: "Her son is my son’s uncle’. How is
Raman related to the old woman?

U6 9g ARl @I AR Fba &0 87 @ A D& T §F 9 G B
ol & | W BT 98 AR § F4T Ga a7l 29

[Question ID = 31108]

1. Son/ W€ rgption ID = 64425]

o, Mother/ AT [5tion 1D = 64424]
: Brother / |18

4: Grandson / TfaT

[Option ID = 64426]
[Option ID = 64427]

Correct Answer :-

-

. Son/ W roption ID = 64425]

68)
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Rohit was three times as old as his sister Komal six vears ago. Now he 1s twice
as old as Komal. What is the present age of Komal?

g DI TG HYHI 989 HFcl B A1G F 6 I U 3 T oAl T o7
FHA | ST 997 2| onfl Fd 31 71T ang, 27

[Question ID = 31110]

1, Syears /8 o [Option ID = 64433]

5. 16 vears /16 Ef"f [Option ID = 64435]
3, Oyears /6T 165000 1p = 64432)
g 12years | 1299 (o000 1p = 64434]

Correct Answer :-

. Dyears/ 2T 0 00010 - 64434)

69) Fe203 + 2A1 — A1203 + 2Fe
The above reaction is an example ofa

Fe203 + 2A1 — AI203 + 2Fe
SRiE gfatrar Sefafag & geEw 2

[Question ID = 31124]

1, displacement reaction / ELTIEE Eﬁﬁ?&ﬂ [Option ID = 64491]
3 decomposition reaction /| JIHgcH

[Option ID = 64490]
double displacement reaction / SE¥1 fa®RMu= glafshar

3. Bl
4 combination reaction / gt gfafsear

[Option ID = 64489]
[Option ID = 64488]

Correct Answer :-
. displacement reaction / TaRITTH m [Option ID = 64491]

70) [ Which of the following won the ~Best Film Award " in Oscar 20187
IR 2018 d F=folRag o 9 foad “wdsie e [N Sidar?

[Question ID = 31096]

. The Shape of Water/ & 919 AT dlex

o, LadyBird/ TSI 38 gption 1D = 64376]
;.| Darkest Hour | ST@¥e =¥ [Option ID = 64377]
4 The Post/ € UNE

[Option ID = 64378]

[Option ID = 64379]

Correct Answer :-
The Shape of Water / g 310 3% dleY

[Option ID = 64378]

71)
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In this question, a statement is given followed by two assumptions [ and II.
You have to consider the statement and following assumptions and decide
which of the assumption is implicit in the statement?

Statement: In Delhi, metro is indispensable for people to reach their places of
work in time.

Assumption I: Metro is the onlv mode of transport available in Delhi.
Assumption 2: Only metro runs punctually.

Mark vour answer as

=9 999 H U e fagr mar € fwe ugEn | — 18R 2 SgEE o
MY F| YD FRF B U1 8 99 W IWRG AHl & <@ 2 R I
1 BV 2 b & W B S, S A ) sieiRe 27

o - feeell &, AT 31 S99 oW B WF W g 9 ugEd ® g d#e
HIRET 2 |

I 1 : A1 € fEoeh # uRag &1 vEHE SueEr 9EF 2|

IFTAH 2 - Dad Agl TG W @Al 2|

SR & =

[Question ID = 31121]

" If only assumption I is implicit / 3R FTAHE 1 Hd-2d 2 | [Option ID = 64476]
», Ifneither Inor ITis implicit / 7R 3FAH 1 R 2, TEN &1 FAET 61 8 | roption 1p = 64479]

If both assumptions I and II are implicit / 37X ST A 1 AN 2 Farad
g
3.

4, Ifonly assumption ITis implicit / 37T ST 2 Faf-fed 2|

[Option ID = 64478]
[Option ID = 64477]

Correct Answer :-
. Ifonly assumption ITis implicit / &Y A 2 Fafred 2| [Option ID = 64477]

72) Ifthearea of a square is the same as the area of a circle, then the ratio of their
perimeters, in terms of m, is:

e TF T 1 &59%d U6 90 @ %A © §9F 2, @l T D 99 A, 99
ofRETY &1 Sa A

[Question ID = 31147]

1. "™ [Option ID = 64582]
2. 22V [Option ID = 64581]

N2

3. [Option ID = 64583]

N3
4, [Option ID = 64580]
Correct Answer :-

. 2:VT [Option ID = 64581]

73) Read the following statements carefully.

i) All good sportspersons want to be victorious.
i) All sportspersons who want to be victorious practice regularly.
iii) Some who practice regularly are women.

Based on these statements, which of the following is correct conclusion?

e R Ty At @ GRS TRT
1) 41 s Raenst Sfiaer == £

2) w41 Raenst &1 Siar ==ed 2 9 fFafie s &%
3) ot Frafae avam s € @ AR g

1 =1 3 IR W FefeiRes 9 9 319 91 921 =y 27

[Question ID = 31119]
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All sportsperson who do not practice are not victorious /| THI RaaTs! &l
| I T B 4 ofiad T2 2 (Option ID = 64470]

All women want to be victorious / ¥ A2AT G iaT ATEAT & | [Option ID = 64469]

AII good sportspersons who practice are women. /| ¥ $HeA 9ol FHI

3. Raerrt afzems 2| [Option ID = 64471]
Some women are good sportspersons /| & H2dlU 5% Facls] 2l .

4, [Option ID = 64468]

Correct Answer :-
. Some women are good sportspersons /| TG FeAT HS Sl Bl 2l [Option ID = 64468]

74) Pandavani- the traditional folk singing/music/dance/theatre is popular in which
of the following Indian state?

UgaHl — U8 URUR& die Mg/ Wi/ 9/ Ted IR & f6w Isg |

Ay 27
[Question ID = 31086]
,, Bihar/T9&R 1D = 64336

Ihaﬂchami ANES
[Option ID = 64337]

3, Chhamsgarrh | OIS [Option ID = 64338]
4 Orissa s [Option ID = 64339]

Correct Answer :-
. Chhattisgarh / BTTE

[Option ID = 64338]

75) How many numbers are in between 200 and 300 that begin or end with 27
200 ¥ 300 % ¥ fho o OH 2 O 2 9 v AT R & B 3

[Question ID = 31111]

1. 120 [option ID = 64436]
2. 110 [Option ID = 64437]
3. 100 [Option ID = 64439]

4, 109 [Option ID = 64438]

Correct Answer :-
, 109

{Dptmn ID= 54438]

76) Which two companies agreed to create India’s largest mobile phone operator

by subscribers and revenue market share?

ffF =1 F=gl 3 SUHET 3N IR § JRfE 989 $ 831 5 ANg &
99 ST AEEd B9 JTNex 94 3 forv gastar fear 27

[Question ID = 31078]
1, Airtel and Aircel TIRCH R TAWA  [option ID = 64306]
, Airtel and Reliance Im,qm'éa Sﬁ? Remaw o [Option ID = 64305]

Vodaphone India & Idca Ce]lu_lara H!ET'JFFI Sredl AN Asredl _xqﬂi‘f'l_\'
3, [Option ID = 64304]

4. Reliance Jio and Vodaphone India/ Negd gt dN aSThHE ghedr [Option ID = 64307]

Correct Answer :-

Vodaphone India & Idea Cellular/ @S1®19 1841 H1X A1giedl GogeR
. [Option ID = E43D4]
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77) 3z w gF Y v 8 TR
e ao% 98 Wi # AT,
= wrrt & sforer way 3,
g T o faga # afaEr 2
N o Ffad 2 999 o,
Ra=1 a1 WRaw g =ef 2|
. 781 Tedr, T dsdl, 3T s,
et Frega 5 A = |9

gRad 371 3T 2

[Question ID = 31171]
1| ¥ P T [Option ID = 64679]

z: Sl [Option ID = 64676]
3. il [Option ID = 64677]
4. S8 [Option ID = 64678]

Correct Answer :-
» 3 [Option ID = 64676]

78) 3z ot @@ fa FEd B AR
F¥ 90 96 | & el
firy it 3 e A
g T o faga F afard 2
v ot afad 2 9ue fog,
fa=1 a1 uRaw g =ef 2
q 21 s, T TSl AT IE,
el Freaa e o = 9

qg $d db a9 27

[Question ID = 31170]

9 o9 39 3

1. [Option ID = 64674]
W 99 9O | ﬁ'ﬁ? g
2 [Option ID = 64672]

3, T 9 IR Tl [Option ID = 64675]

e 9 Am—-ored 8 |
4. i [Option ID = 64673]

Correct Answer :-

Y U9 WON 9 @RI B i
. [Option ID = 64672]

79) 7z F ¥ fa FEd B TR,
WY T 9o W & R,
for~y <t & aferr wad @)
g o o faga F afard 2
SN ot sfard 2 9ua forg,
a1 a7 oRaw &= @ 2|
q 21 A<, T Fedl, AT IE,
el Freaa e = 9

9 Uleadl § &na o 3 2
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[Question ID = 31172]

1. BT roption ID = 64682]

2. T [option ID = 64681]
3, 1 ¥ B T (05000 1p = 64683]

4. ST option 1D = 64680]

Correct Answer :-

« T [option ID = 64681]

80) 3z = @ fm wEd & TR
e 9% 90 @1 2 T,
s vl @ Hferr wed @),
g T 9% favg # e 2|
3R &t a2 9w fom,
=1 a7 oRaw g+ = 2|
T 2T TS, T S, A TE,
wedl P R A5 == 9

Teqay od ooaa 9 o T8 37 Ulaadl | $esd & Aol [aud oq1 8¢

[Question ID = 31173]

 TEH IE-E_:I‘E' FA T tion 1D = 64685]

. T AR T DY THAT W T |6 - sasee)
3. T4 9 BE T [gpi0n 1D = 64687]
4, TR PRI BT FRIAN X (000 10 = 64686)

Correct Answer :-
. ﬁﬁﬂﬁﬁﬁﬂﬁﬁﬂﬁm

81) 3z # @ fa Fad B TR
R 9 90 W1 2 il
firT il @ afor wad 2,
Iz T T% favg # afEd 2|
IR &1 FfEd 2 99s fog,
a1 a7 oRaw =1 =Y 2|
T 2T TS, T S, F TE,
wed! P 5 A = 9

g o1 fadiaRis = &
[Question ID = 31169]

1, ey [Option ID = 64668]
), Y [Option ID = 64670]
3, ISTE [Option ID = 64669]
4, FUHY [Option ID = 64671]

Correct Answer :-
. ia [Option ID = 64668]

[Option ID = 64684]
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Which one of the following has been declared as India’s First World Heritage
City?

9 § 59 wa 9 ugell 98 2Rew e &1 == fear war 22
[Question ID = 31093]

1. Dethi / &&= 1option 1D = 64366]
,, Mumbai / g [Option ID = 64367]

3, Jaipur/ SR oni0n 1p = 64364]
4, Ahmedabad /| STEFCRIEIS ok o0 1n — 64365)
Correct Answer :-

. Ahmedabad / SIEASEIS 0400 10 = 64365]

83) | Given below are three numbers A, B and C. in their respective expanded
forms. What will be the sum of A, B and C?

A=1x10'+6x10°

B=2x102+3x10°+1 x 10!

C=1x10%+4x 102

7 @ 9 A.B 3R C $ Fafa favga w9 9w Ry mu € A.BIR C
T GIT T EATY

A=1x101+6x 1072

B=2x102+3x10°+1 x 10!

C=1x10%+4x 10

[Question ID = 31153]
.| 6723
, 0491

[Option ID = 64607
[Option ID = 64606]

3. 1362 [gption 1D = 64605]
4. 1422 [option 1D = 64604]

Correct Answer :-
« 1422 150ti0n 1D = 64604]

84) No matter how far vou stand from a mirror, vour image appears erect. The
mirror is likely to be
T8 19 A1EH o e ¢ N we 2 auet ofe deEf et 2 emE
e B

[Question ID = 31131]

1, @ (9 [option I = 64516]

5. Convex /| ®dad (IT7d) [Option ID =
Concave /| &4 (37add) _

3, " [Option ID = 64517]

cither plane or convex / W TT HF (GHal AT Fewied)| [Option ID = 64519]

64518]

4.

Correct Answer :-
either plane or convex / @iF IT Hdad (FHde IT Fewied)| [Option ID =

64519]
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In this question, a set of given statements is followed by a set of conclusions.
You have to decide which of the conclusion logically follows on the basis of
information given in the statements.

Statements: All snakes are ropes. Some ropes are sticks. All sticks are trees.

Conclusions:
¥ Some trees are snakes
II. Some sticks are snakes
III.  Some trees are ropes.

Mark vour answer as
9 9 # §P BYF TR € o o §p ey Ry v F suet g'
foig o= 2 fb 319 9 39 ey € & Sl 9 €1 TE OHeN © JER
W aifbe w9 § Tl 2
FUE - w1 9 Rt 2| T Mgt siear ) wi efeat 3 2
forepef -

1. &P P 99 g

2 TP ol 9" F|

3 &P o Wadr 2|
F0 TR B 9 o fafed 39

[Question ID = 31120]

| If both conclusions Iand II follow / 3% Pt 1 a2 98 21 [(Option ID = 64473]
5 1fall conclusions I, II. and IIT follow / 377X Al s 12 3N 3 Geld B II [Option ID = 64475]

4 If only conclusion III follows / 37X ®acl %hS 3 Hcld 2 |
If only conclusion I follows / 377X Hadl =hY 1 Hel® 3 |

[Option ID = 64474]

4 [Option ID = 64472]

Correct Answer :-

_ Ifonly conclusion III follows / 37 Hacl Hehy 3 Weidh 2| [Option ID = 64474]

86) | In a code, the word 'LIGHT" is written as 'TFHKW'. How will you write

‘RAINBOW’ in the given code?

U @€ & IR, ¥ ‘LIGHT &I ‘IFHKW" forar @ar 2| g1 &8 &
IR, ‘RAINBOW" o9 ety

[Question ID = 31116]

” UXKOERW

, UCKMYLW
, OCFMELZ
OXFOERZ

[Option ID = 64458]

[Option ID = 64456]
[Option ID = 64457]

[Option ID = 64459]

4

Correct Answer :-

. OXFOERZ [Option ID = 64459]

87) Choose the wrong term of the series?

7.19,37, 61,91, 126, 169
=1 s # e W B wioey TEy?

7.19,.37.61.91. 126, 169

[Question ID = 31107]

1. 126 [option 1D = 64423]
2. 61 [Option ID = 64421]

37 ]
3. [Option ID = 64420]

4. 21 [Option ID = 64422]
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Correct Answer :-

. 126 [Option ID = 64423]

88) The Indian tennis ace who clinched his maiden Grand Slam title by winning
French Open mixed doubles 2018 with Canada’s Gabriela Dabrowskiis is

A A9 3 99 9N e &1 AW IaEe 9T s wgon S W
faom wa v @ABE gra 2018 § T o1 Afwer Sa F oA
ey offar?

[Question ID = 31097]
,, Yuki Bhambri / T&T #Fd] [Option ID = 64381]
,, Rohan Bopanna / V&7 [Option ID = 64380]

3, Leander Peas/ To0SY 99 [o0u0n 10 = 64382]

Somdev Devvaraman / Gi¥Fsd Sdd¥a-
4, ™ T < T TS ™ [U[Jflﬂﬂ ID = 54383]

Correct Answer :-

. Rohan Bopanna / 317 3 [Option ID = 64380]

89) Food cans are coated with tin and not with zinc because

mmﬁmaﬁﬁiﬂgﬁqﬂa@n%ﬂnwlqwﬁ%‘_:rﬁ?ﬁiﬁ?a?aﬁ'ﬁ?:

[Question ID = 31126]
1. Znc is less reactive than tin, i 9 31 JUET HH giaihar S 2 | [Option ID = 64499]
zinc is more reactive thantin / 1975 129 @1 U &S Ylalhdl HIl 2 | ,
: Ticmaw sk 2 . [Option ID = 64498]
zinc has a higher melting point than tin / 5% 3T &9 $T o 7 g1 TolD
; g

4, Zncis costlier than tin / 159& $1 S IS | UM 2| [Option ID = 64496]

[Option ID = 64497]

Correct Answer :-
zinc is more reactive thantin/ 7% 1S9 &1 39T AF Fdipdl Heal 2|

[Option ID = 64498]

90) | Which of the following personalities inspired the 'Green Revolution in India'?
fA=feraa gRal 9 9 f5a- 9Ra § 2Ra Hifa o IRkg fHar?

[Question ID = 31138]

;| M:S. Swaminathan / TH. TH wﬂrﬁnﬂ? [Option ID = 64547]
, Gurcharan Singh Kalkat / T[¥e¥0 IGERETSET [Option ID = 64545]
3. Zeyaur Khan / SR @M 1g54i0n 1D = 64544]

Krishna Srinath / $@T 3R

4 [Option ID = 64546

Correct Answer :-
. | M.5. Swaminathan / TH. 79 W AR [Option ID = 64547]

91) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi's ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
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is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which among the following is similar in meaning to the word ‘chaos’ as used in the passage?

[Question ID = 31161]

1. Uncertainty  (gption 1D = 64636]
p, Jumble o ion 1D = 64638]

3, Disorder roption 1 = 64637]
4, Indecision [option ID = 64639]

Correct Answer :-

Disorder qntion I = 64637]

92) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi's 'surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which among the following is similar in meaning to the word ‘anxious’ as used in the passage?

[Question ID = 31160]

1] Edgy  [option ID = 64632]
2. Afraid [Option ID = 64633]
3.| Worried  [option ID = 64635]
g, Fretting o500 1D = 64634)
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Correct Answer :-
. | Worried  [option ID = 64635]

93) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi's ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which among the following best explains why rural areas and villagers were worst affected?

[Question ID = 31159]

The banking system’s penetration is poor

1. [Option ID = 64629]

2. = [Option ID = 64631]
3, They don’t understand English. 1501 15 = 64628)

ATMs lines were longer than expected.

The communication with the citizens residing in rural areas was not clear

4 [Option ID = 64630]

Correct Answer :-

. The banking svstem's penetration is poor [Option ID = 64629]

94) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi's ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.
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Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which among the following is opposite in meaning to the word ‘transition’as used in the passage?

[Question ID = 31163]

1, Crunch o4tion 1D = 64646]
2. Shift  option ID = 64645]
3. TWist [Option ID = 64647]
4 Development i 1D = 64644]

Correct Answer :-

95) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which among the following is opposite in meaning to the word ‘ease’ as used in the passage?

[Question ID = 31162]

1, Hiccup antion 10 = 64643

o, Hardship [Option ID = 64642]
3. _116_‘55_ [Option ID = 64641]

4, Pain rontion 1D = 64640]

Correct Answer :-
Hardship [Option ID = 64642]

96) Demonetisation
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The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Why do you think that after the Prime Minister Modi's ‘surgical strike’ last week, a certain degree of disruption and pain was
unavoidable?

[Question ID = 31157]

1. Both (2) and (3)  [Option ID = 64623]
Because of this surgical strike, ATMs queues were getting longer with each

2, passing day. [Option ID = 64622]
Because this surgical strike would reduce some part of black wealth to zero.

3 [Option ID = 64620]

'Because of this surgi-cal. stﬁf:e= the overall I.eveiinf’cnnsumptiron has fallen down
4, —even with the white money. [Option ID = 64621]

Correct Answer :-
. Both(2)and 3) [option ID = 64623]

97) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi's ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.
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Q) Why do you think that the replacement of the demonetised notes is a time-consuming exercise?

[Question ID = 31155]

Replacement process requires planning of the highest order and careful

1. implementation. [Option ID = 64615]
: g s 43
5 It takes more than 50 days to replace demonitised notes. [Option ID = 64612]

Demonetisation is a “futile exercise’ to target black monev and fake currency.

_ [Option ID = 64613]
The government was lazy enough to issue the decision of demonetisation

4, before. [Option ID = 64614]

Correct Answer :-
Replacement process requires planning of the highest order and careful

- i.mplementation. [Option ID = 64615]
98) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi's 'surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which, according to the author, of the following is/are the true reasons behind Modi's "surgical strike’ on black money?

[Question ID = 31154]

To lower cash circulation in the country which is directly related to cormuption

L. In our country. | [Option ID = 64609]
5 To tackle black money in the economy. [Option ID = 64610]

It is a push towards a cashless economy. ]
~__ [Option ID = 64608]

It is PM’s stint to win forthcoming elections.

[Option ID = 64611]

Correct Answer :-

. To tackle black money in the economy. [Option ID = 64610]

99) Demonetisation
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The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) Which one of the following is an inevitable consequence of the decision to demonetize notes of Rs 500 and Rs 1,000?

[Question ID = 31158]

1.
The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days.
[Option ID = 64627] .
ATMs are running out of cash quickly while banks are dispensing more of the

2. Rs. 2,000 notes than those of lower denominations. [Option ID = 64624]

Banks realised the ATMs would not be able to dispense the new notes
3 [Option ID = 64626]
The cash crunch of the last few days has an adverse impact on consumption

spending [Option ID = 64625]

Correct Answer :-

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days.
[Option ID = 64627]

100) Demonetisation

The long, anxious, and frustrating wait by people outside banks and ATMs across the country over the last five days is an inevitable
consequence of the decision to demonetise notes of Rs.500 and Rs.1,000. When 86 per cent of the value of notes in circulation turns
suddenly invalid, as it did with Prime Minister Modi’s ‘surgical strike’ last week, a certain degree of disruption and pain is unavoidable. But
the question is whether this chaos could have been anticipated and managed better than it has been.

Replacement of the demonetised notes is a time-consuming exercise that requires planning of the highest order. The experience of the
last few days shows that preparation was lacking and the transition could have been handled much better. ATMs are running out of cash
quickly while banks are dispensing more of the Rs.2,000 notes than those of lower denominations. What use is a high-value note if there
is not enough smaller currency to make an exchange? Of course, it was never an easy task for the Reserve Bank of India and the Centre to
strike the right balance between secrecy and storing adequate quantity of notes for quick distribution. All the same, there are at least a
couple of issues that could have been addressed differently.

The new Rs.500 notes that hit the market on Monday could have been released immediately after the announcement last week. Putting
out new Rs.500 notes along the Rs.2,000 notes would have placed much less strain on those of the Rs.100 denomination, which are
anyway in short supply. Second, it appears that officials woke up a little late to the issue of recalibrating ATMs. At least a day, if not more,
was lost as banks realised the ATMs would not be able to dispense the new notes. The communication with the public, who were in a state
of panic, could have been better, too.

Thankfully, the Centre has woken up to ease the pressure on the system by increasing withdrawal limits, allowing for petroleum outlets
and hospitals to accept the old series of notes until November 24 and pushing more cash through post offices. The worst-affected are
people in rural areas and villages where cash is king and the banking system’s penetration is poor. The decision to relax cash-holding
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limits for banking correspondents, the crucial link between banks and villages, to Rs.50,000 and allowing them to replenish multiple times
a day should help in faster distribution. This ought to have been done much earlier. The cash crunch of the last few days is certain to have
an adverse impact on consumption spending, especially in the rural areas, with the resultant effect on the economy in the third quarter.

Q) How, according to the author of the passage, demonetisation could have been addressed differently?

[Question ID = 31156]

i Configuring ATMs to dispense new currency. [Option ID = 64617]

Announcing the government openly regarding its intention to introduce the new
2. currency Rs 2,000 into the economy. [Option ID = 64616]

Increasing the number of mobiles, micro ATMs especially in rural areas.
3

1 [Option ID = 64619]
Introducing lower denomination (Rs 500) note before or along with issuing a

4, higher denomination (Rs 2000) for exchange. [Option ID = 64618]

Correct Answer :-
Introducing lower denomination (Rs 500) note before or along with issuing a

., higher denomination (Rs 2000) for exchange.

[Option ID = 64618]
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